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Field Test of Early Maturity Bambara Groundnut Varieties 
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1/ #6������"�D ��"*��ก���ก�'���8 �  '.L ��  �.��+:�9�  �.��8 �  0-7420-5979-80 
2/ #6������"�D ��"*��ก���ก�'�'�"�  '.��7���  �.
��� =��  �.'�"�  0-7520-3338 
3/ #6������"�D ��"*��ก���ก�'�
I''��=  '.�����'=3�  �.D�� ��  �.
I''��=  0-7335-6248 
4/ #6������"�D ��"*��ก���ก�'��0�����  '.�0�������ก  �.�0�����  �.���5����  0-7357-1190 
5/ #6������"�D ��"*��ก���ก�'����5����  '.
� ��6  �.��&��
�+=  �.���5����  0-7365-1396-7 
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'�� %�+". ('�����=1 4) 

 
�������� 1    ; ; �'D � "ก�	�.��
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TVsu 86 915.5 882.3 308.8 67.8 49.1 1 
TVsu 89 933.3 884.8 290.9 74.5 55.4 1 
��8 �  1 638.3 592.6 205.8 75.3 67.0 1 

F-test ns ns ns ns ** - 
LSD .05 - - - - 5.4 - 

 ns = &���=)���D'ก'�������<�'� 
*  = D'ก'�������<�'��=1��+".)�����01��"1� 95% 
** = D'ก'�������<�'��=1��+".)�����01��"1� 99% 
��+".)������D��8��ก���ก�+7�):.&��/ (1-5) 
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G�7�)��������D�� (�='/�'����กก��� 30.0%) 
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TVsu 86 597.0 569.6 162.3 66.0 32.9 2 
TVsu 89 617.4 599.1 206.2 77.1 51.2 2 
��8 �  1 703.3 608.4 172.8 65.8 51.5 2 

F-test   ns   ns ns ** **  
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�
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�=�.��=�.ก".
�"�5����8 � 1 

102.2 105.6 96.0 66.0 

    
 �
�=����5�>�?���F
�8��Q6��<�ก��	���ก 3 �	�5��
�U�������9?�: 60 �	
 
 �=D
 ��+��. 5 D
 ��=1&+/�".�!��D�+ /�������=3&+/Dก�  D
 ��+��.�=1�%��!�
���
���  �"���"+
I''��= 4 D
 �  D ��=1�%��!�ก����  �"���"+�"� �� 1 D
 �  7+�:�����ก��
 6ก<F�
���1���ก�=��'ก��=����  '�����=ก��'ก�/�� �D ���3�����'"3�D'�� "�ก��:��
�_��=1���� 3 �"
+���
��<F�����
����	 60 �"���<F�ก ".��'ก��
����	)����03��������ก".ก������98��<"1���"1�
�=ก)�"3�  �!�������=3�%�:�/�"�5�� TVsu 86 D � TVsu 89  2F1��=ก������9�'�.7'D ��"*��ก�������
��+��-�:������� ��"3�<6กก���.��กก���  �"�5����8 � 1 �=1�=�������ก����F��"��=�� ��03�'"�:�



�
�=�.��=�.�"�5��<"1���"1������"3�:�D
 ��ก�'�ก� 

 

174 
 

������ ��=1�� 0��=ก 60 �"�ก���ก���ก-.�ก=1��   :�D
 ��+��.�=1�"���"+
I''��=�"3� 4 D
 ��=1�=
�!��+���
G�+�������"+��++��./������=1�=)�����+���.6�	�'1%���ก  �.����"�5�� TVsu 86 
�����<:�/; ; �'&+/:���#����=1�6�ก����"�5�� TVsu 89   D'�; ; �'8���"3� 2 �"�5��ก-'1%�ก���:�
�"�5����8 � 1 ������=)���D'ก'�������<�'� ('����;��ก�=1 2, 3 ,4  D � 5)  ��01����ก�"3� 4 D
 �
��6�:��03��=1:ก /�)=��ก"�)0�:��03��=1������DmDm�=1./��.���ก�� ��6��=1 3  '%�. �����1�  �%��!�
���
���  �"���"+
I''��=  D ��=�6
D..8��8/��6 �=1&+/�
G�&
:���#����+=��ก"��F��%�ก�����)�����
���ก"�'��D;�ก���+ ��D.. RCB   7+�:�/�!��D�+ /��D �ก��
`�."'�8���ก�'�ก�D'� �
����
G�23%� (block)  �.����"�5����8 � 1 :�/; ; �'&+/�6���+�"3�; ; �'�Iก�+D �; ; �'�IกD�/�
����ก". 609  D � 206.3 กก./&�� '�� %�+".  D'ก'�������<�'�ก".ก��:�/; ; �'8���"�5�� TVsu 86 
D � TVsu 89 ('�����=1 5) 
 D
 ��+��.�=1./����.��  ��6��=1 8  '%�. ) ���L ��  �%��!�ก����  �"���"+�"� ��  �=
�!��D�+ /���=1�6
D..ก��&+/�".�3%����
G������+=��ก".�=1�"���"+
I''��=  D'��!��D
 ��
G�+��
����
������=1�=ก��7)������ก����01�
 6ก�+D��:���  �.����"�5�� TVsu 86 D � TVsu 89 :�/
; ; �':ก /�)=��ก"�D'��=)���L =1�:���+".�=1�6�ก����=1�"���"+
I''��=  D ������+=��ก"��"�5����8 � 1 
:�/; ; �'�6�ก����"3� 2 �"�5�������D'ก'�������<�'�   ��ก��ก�"3�D /��"�5����8 � 1 ก-�=��+".ก��
�8/��%� ��8��7�):.&��/:��!��5�����'�:���+".� -ก�/��D'ก'���ก".:��"�5�� TVsu 86 D � 
TVsu 89 �=1D�+���ก���
G�7�)��������D�� ('�����=1 6) 
 D
 ��+��.�=1./���8�����  ��6��=1 9  '%�. ��������  �%��!��"'!6��  �"���"+��8 �  D�/
��&+/�!��D�+ /�� "ก�	�ก��'ก8���������+=��ก".�=1�%��!�
������  D ��%��!�ก���� ก-
'��   D'��"�5����8 � 1 ก-<6ก7�):.&��/�8/��%� ����������D�������+=��ก".�"�5�� TVsu 86 D � 
TVsu 89   +"��"3��F�&���=ก��Sst�'"���/��D ��"*��; ; �'8F3����+������1��'��&+/D'������:+  
���; :�/�"�5����8 � 1 :�/; ; �'�Iก�+D �; ; �'�IกD�/�&+/'1%���=�� 86.2 D � 27.6 กก./&�� 
'�� %�+".  ก���=1; ; �'�Iก�+�"3���+8����ก�"�5����&���=)���D'ก'���ก"�����<�'�  D�+�:�/
��-����:��3%���"ก�Iก�+�"3���+8���"�5����8 � 1  �=�"+����8���Iก������6���ก  ������"�5��
��8 � 1  �=ก������9+/��ก��:�/; ; �'�=1�/�ก����"�5�������"3�   ��01��
�=�.��=�.��������"�5������
�"3�+/��ก"��.����"�5�� TVsu 89  :�/; ; �'&+/�6�ก��� TVsu 86  ����"3��=)���
����2-�'�ก�����
D ��3%���"ก 100 �� -+�=1�6�ก���+/�� ('�����=1 7)  2F1��
G�ก��D�+�:�/��-�����"�5�� TVsu 89 �=)���
7++�+��:�ก����/��; ; �'&+/+=ก��� TVsu 86 :��!���=1�ก�+7�):.&��/:���+".�=1���D�� 
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 �
�=����5�>�?���ก���<�8W��8�A��Dก<7�ก	55>��ก��=��B��58
 
  "ก�	������=3�%�:�/ก��:�/; ; �'8��D'� ��"�5��<6ก�%�ก"+��01����กก������9�'�.7'�=1<6ก
�%�ก"+'"3�D'�����'/�  7+��.&+/�=1D
 ��+��.:�#6������"�D ��"*��ก���ก�'��0�����  �%��!��0�
����  �"���"+���5����  D ��=1./�������=�+  ��6��=1 3  '%�. ) ��:�9�  �%��!�'�7��+  �"���"+
�"� �� 
 �=1#6������"�D ��"*��ก���ก�'��0�����   "ก�	�+���=1�
G�+���������=���=1�=)�����+�
��.6�	�'1%�  +��)���8/��D�/�D8-���01�)����03� + �  �
G���
���)'��ก��D�� peg  �&
:�+��  

��ก�.ก".�=7�):.&��/�8/��%� ��:������=1<"1���"1����1���ก+�ก  D�/ก��:�/���
T��ก"�ก%��"+
7�)�%�:�/�����<)�.)��7�)&+/D'�ก-�%�:�/�ก�+ก�����"กก������9�'�.7'  �.����"�5�� TVsu 89 
�����<:�/; ; �'�Iก�+&+/ 273.8 กก./&��  ; ; �'�IกD�/� 102.9 กก./&�� �6�ก��� TVsu 86 D �
��8 � 1 ������=)���D'ก'�������<�'�  7+��
����2-�'�ก�����D ��3%���"ก 100 �� -+8���"�5��
��8 � 1 �=)��'1%��=1��+ ('�����=1 8) 
 D
 ��+��.�=1./�������=�+  �03��=1�
G�+���������=��
�����D �8�+�3%���01����ก��
��3������
G������� ����'"3�D'�� "�����:��
�_��6�7)��=1���� 3 �"
+���  �!��;����/�+���=1D8-�
D �����3�������������'/�<"1���"1�D�/�'��:��=1��+�
G���
���)�=1�%�:�/�"�5����8 � 1 :�/
; ; �'�=1'1%�  D'���01���=�.��������"�5������ 85 �"�+/��ก"�  �"�5�� TVsu 89  �����<:�/; ; �'&+/
�6�ก���������"+���  2F1������<:�/; ; �'�Iก�+ 408.5 กก./&�� ��=�.ก". 178.9 กก./&��:��"�5�� 
TVsu 86   D ��"�5�� TVsu 89 �"�:�/)���
����2-�'�ก�����D ��3%���"ก 100 �� -+�=1�6�ก���+/�� 
('�����=1 9) 
 
�������� 5    ; ; �'D � "ก�	�.��
��ก��8��<"1���"1� 3 �"�5�� ��01��%�ก�����)�����8/��6  

  ���ก"�8�� 4 D
 �2F1�
 6ก:��03��=1������DmDm  ��6��=1 3  ./��.���ก��  '.�����1�   
  �.
������  �.
I''��= 

�	
��
 


�7��
	กFGก

�5�	���?5

(กก./K�6) 

;�;�8�FGก

�5 

(กก./K�6) 

;�;�8�FGก

��>� 

(กก./K�6) 

����
�MN
�


ก9���9 

(%) 



. 100 

�?�N5 

(ก�	?) 

TVsu 86 212.5b 192.3b 61.8b 72.8a 39.3b 
TVsu 89 131.1b 87.7b 31.8b 65.5b 31.2b 
��8 �  1 627.8a 609.0a 206.3a 73.0a 61.4a 

)���L =1�:��+�!��+=��ก"��=1'��+/��'"��"ก�����0��ก"�&���=)���D'ก'���ก"�����<�'��=1��+".)�����01��"1� 95%
7+���5=ก�� DMRT 
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�������� 6    ; ; �'D � "ก�	�.��
��ก��8��<"1���"1� 3 �"�5�� ��01�
 6ก�+��.�=1./����.�� 
  ��6� 8  '.) ���L �� �.ก����    �.�"� �� 

�	
��
 

�7��
	กFGก

�5�	���?5   
(กก./K�6) 

;�;�8�FGก

�5 
(กก./K�6) 

;�;�8�FGก

��>� 
(กก./K�6) 

%ก9���9

(%) 



. 100 

�?�N5 
(ก�	?) 

49�

A�4��K�?>

�
�=�����?Q��8 

  TVsu 86 305.1 285.0 93.0 72.5 34.2 5 
  TVsu 89 303.8 284.1 102.4 80.2 43.5 5 
  ��8 �  1 566.0 556.6 177.6 74.4 47.9 2 

F-test ** ** ** ** **  
LSD .05 127.6 123.4 40.9 1.34 3.3  

�������� 7    ; ; �'D � "ก�	�.��
��ก��8��<"1���"1� 3 �"�5�� ��01�
 6ก�+��.�=1./���8�����  
                   ��6� 9  '.��������     �.�"'!6��   �.��8 �  

�	
��
 

�7��
	กFGก

�5�	���?5   
(กก./K�6) 

;�;�8�FGก

�5 
(กก./K�6) 

;�;�8�FGก

��>� 
(กก./K�6) 

%ก9���9
(%) 



. 100 

�?�N5 
(ก�	?) 

49�

A�4��K�?>
�
�=�����?Q��8 

  TVsu 86 97.8   90.3 24.9 62.7 26.7 5 
  TVsu 89 153.6 148.4 43.7 66.9 33.7 5 
  ��8 �  1 145.1   86.2 27.6 71.4 50.9 5 

F-test   ns    **   * ** ** - 
LSD .05 -   39.1 13.0 3.9 5.2 - 

�������� 8    ; ; �'D � "ก�	�.��
��ก��8��<"1���"1� 3 �"�5�� ��01�
 6ก�+��.�=1#��.�0����� 
  �.�0����� �.���5���� 

�	
��
 

�7��
	กFGก

�5�	���?5   
(กก./K�6) 

;�;�8�FGก

�5 
(กก./K�6) 

;�;�8�FGก

��>� 
(กก./K�6) 

%ก9���9
(%) 



. 100 

�?�N5 
(ก�	?) 

49�

A�4��K�?>
�
�=�����?Q��8 

  TVsu 86 144.4 140.8 47.1 73.5 40.24 2 
  TVsu 89 295.1 273.8 102.9 74.7 49.36 2 
  ��8 �  1 170.0 153.2 26.5 52.6 27.7 2 

F-test * *    * *   **  
LSD .05 90.8 79.3 18.1 19.0 4.37  
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�������� 9    ; ; �'D � "ก�	�.��
��ก��8��<"1���"1� 3 �"�5�� ��01�
 6ก�+��.�=1./�������=�+  
  ��6� 3  '.) ��:�9�  �.'�7��+  �.�"� �� 

�	
��
 

�7��
	กFGก
�5�	���?5   

(กก./K�6) 

;�;�8�FGก
�5 

(กก./K�6) 

;�;�8�FGก
��>� 

(กก./K�6) 

%ก9���9

(%) 



. 100 
�?�N5 

(ก�	?) 

49�

A�4��K�?>

�
�=�����?Q��8 

  TVsu 86 186.5 178.9 60.8 71.6 37.1 5 
  TVsu 89 422.4 408.5 156.1 79.0 45.3 5 
  ��8 �  1 281.2 257.1   70.4 66.5 39.8 2 

F-test   ** ** ** ** **  
LSD .05 109.3 104.0 32.2 2.4 4.3  

 
 4��?485��N
B���ก���ก��6��	
��
�����	�
 
 �ก�'�ก��=1�"���"+
I''��= 4 ��� ��.�"�5�� TVsu 89 �=1����'�+=  :�/)����6/�Fก&��D'ก'���
ก".ก���".
������"�5���03���0���=1)�/��)���6�D /�  D'��=8/�+=ก����=1��01���/��� -+.��ก���:��"�5��
�03���0��  D ����+ ��
 6ก23%�+/��'�����=ก:�
 ��K+6D �
�'��&
   7+����
 =1��D
 �
������ �
 6ก:��� 
 �ก�'�ก��=1�%��!�'�ก:.  �"���"+���5����  ��.�"�5���"3� TVsu 89 D � TVsu 86 �=1����
�"3�  '�+�Iก+ก  D �ก���=�������8��+� -ก���%�:�/
 6ก&+/��������D���) ���'-��03��=1'"3�D'�
����'/� 
 D'��ก�'�ก��=1�%��!�
a�.��  �"���"+�"� ��  D ��=1�%��!��"'!6��  �"���"+��8 �  &����.
�"�5�� TVsu 86 �=1�������� -ก&��)���) ���'-��03��=1   7+���.�"�5�� TVsu 89 ��กก���'���=1�=ก��
) ���03��=1D �:�/; ; �'&+/+=ก���  ��������'���.�"�5�� TVsu 89 ��ก�=1��+ 
 �ก�'�ก��=1�%��!�'�7��+  �"���"+�"� ��  ��.�"�5�� TVsu 89 �=1�����"3�  �����<�ก-.
�ก=1��&+/��-�  �%�:�/ +)�����=1����ก)�����=������01����ก8�+��:������ "�'�+'��ก"�������  
D'��ก�'�ก��=1�%��!�ก����  �"���"+�"� ��  &����.�"�5�� TVsu 86 D � TVsu 89 �=1�����'��7�)
:.&��/�/��ก����"�5����8 � 1 
 

����;�ก���5�����9B>���
��
9 
1. :��!��D�+ /���=1��03�'��ก������9�'�.7'8����ก�"�5��' �+K+6
 6ก  ; ; �'�Iก�+�=1&+/

���6�ก��� 500 กก./&��  7+��=1�"�5�� TVsu 86 D � TVsu 89  �����<:�/; ; �'&+/:���+".�=1&���=
)���D'ก'�������<�'�ก".�"�5����8 � 1 
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2. :��!��D�+ /���=1����3��������
G�
I9��ก���.'��ก������9�'�.7'D ������� 
�=�!��  :��!���03��=1+�������"+)�����+���.6�	�'1%�  �"�5�� TVsu 86 �=D��7�/�ก��:�/; ; �'&+/
+=ก����"�5�� TVsu 89   D'�:��!���=1)���8/���
G�+�������"1�&
    �"�5�� TVsu 89 �����<:�/; ; �'
&+/+=ก��� TVsu 86 

3. �"�5�� TVsu 89 2F1��
G��"�5�������"3�  �=8/�&+/�
�=�.�"�5����8 � 1 �=1����9�'�.7'D �
��/��; ; �'�Iก�������+��-�  �F��"������<:�/; ; �'&+/�%������F1�:�ก�	=�=1
����	��:�����
� "�&����=����  ��0��=7�):.&��/�8/��%� ��:�����
 ��K+6ก�  

4. �ก�'�ก���.�"�5�� TVsu 89 ��กก���  ��กก���=����'�D ��"�;"�:�ก��.��7!)�=1
+=ก���  ��01����ก�=��01���/��� -+.��  D ��=8��+�� -+�=17'ก����"�5�� TVsu 86 

5. �"�5�������"3��%�:�/�ก�'�ก������<�ก-.�ก=1��; ; �'&+/'/�K+6  ���; :�/8��&+/:���)�
�=1�6�ก���  D ��=������ ��=1; ; �'��ก�6�' �+ก�/��8F3�  +"��"3��"�5�� TVsu 89 �F��
G��"�5���=1�����
&+/�".ก���;�D����6��ก�'�ก�'��&
 
 

ก��
7�;���
�8<	�K��Q>��9A�Q

 
 1.  �����<D���%�:�/�ก�'�ก�:�/�"�5�� TVsu 89   ��ก'/��ก��
 6ก�"�5�������"3� 
 2.  �����<�"+��..ก��
 6ก�0�&+/� �ก� ��D ���+) /��ก".�!��&+/�".�3%����=1
�
 =1��D
 �&
��ก8F3� 
 3.  :�/�
G�8/��6 :�ก������8��
G��"�5���0�D���%�8��ก������ก���ก�'�'��&
 
 

��ก����>���8� 
����  �����	
�������   ��������  ������   �%����  &�������	�   ���"����	  �����/�    

��''�  ������   �����  	 �"� ��  +���ก�  +���"��"+  D ����8�"9  ��#����7	�"�.  2553.  
ก���+��.�"�5�� (<"1���"1������"3�) :�D
 ��ก�'�ก�. ��������01���'-�; ก���+ ��
��3���+
��.
����	 2552.  ก������ก���ก�'�. (��'=�����) 

#���ก�   #�=D���"����  D ��"�����	  �7�. .   2545.  ������ก��#Fก��ก��' �+D �ก��:�/

��7����<"1���"1�:�!�):'/.  ก����������ก���ก�'�,  ก������x. 

#6������"��0�&����8 �.  2541.  <"1���"1��"�5����8 � 1.  #6������"��0�&����8 � : ��8 �. 27 ��/� 
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=�4;
�ก 

�����;
�ก��� 1      )���L =1� ± )���.=1���.���'����8��; ; �'<"1���"1� 3 �"�5��  ��01�
 6ก�+��. 
    �=1��6��=1 5  '.��7��         �.
��� =��  �.'�"� 

 �"�5�� �3%���"ก�Iก�+�"3���+ ; ; �'�Iก�+ ; ; �'�IกD�/� 
   (กก./&��) (กก./&��) (กก./&��) 

  TVsu 86 3.2 ±1.1 2.7±1.1 1.2±0.5 
  TVsu 89 40.0±5.0 39.8±5.0 13.0±1.4 
  ��8 �  1 113.4±28.3 104.0±27.4 23.6±6.8 

 
�����;
�ก��� 2     ; ; �'D � "ก�	�.��
��ก��8��<"1���"1� 3 �"�5�� ��01�
 6ก�+��.�=1./��

.���ก��  ��6��=1 3  '.�����1�  �.
������  �.
I''��=  (D
 ��=1 1) 

�	
��
 

�7��
	กFGก

�5�	���?5   
(กก./K�6) 

;�;�8�FGก

�5 
(กก./K�6) 

;�;�8�FGก

��>� 
(กก./K�6) 

%ก9���9

(%) 



. 100 

�?�N5 
(ก�	?) 

49�

A�4��K�?>

�
�=�����?Q��8 

  TVsu 86 237.7 220.6   66.7 74.0 40.0 2 
  TVsu 89 144.7 104.4   29.0 64.0 33.0 2 
  ��8 �  1 789.2 763.9 254.0 73.2 59.6 2 

F-test   ** ** ** ** **  
LSD .05 147.6 140.1 54.6 3.0 4.7  

 
�����;
�ก��� 3     ; ; �'D � "ก�	�.��
��ก��8��<"1���"1� 3 �"�5�� ��01�
 6ก�+��.�=1./�� 

   .���ก��  ��6��=1 3  '.�����1�  �.
������  �.
I''��=  (D
 ��=1 2) 

�	
��
 

�7��
	กFGก

�5�	���?5   
(กก./K�6) 

;�;�8�FGก

�5 
(กก./K�6) 

;�;�8�FGก

��>� 
(กก./K�6) 

%ก9���9

(%) 



. 100 

�?�N5 
(ก�	?) 

49�

A�4��K�?>

�
�=�����?Q��8 

  TVsu 86 118.0 107.0 29.0 71.0 32.3 2 
  TVsu 89 83.7   70.9   19.7 66.4 29.1 2 
  ��8 �  1 486.9 480.4 184.4 76.0 66.4 2 

F-test **   ** ** ** **  
LSD .05 135.1 126.8 47.7 3.0 7.4  

 



�
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�����;
�ก��� 4     ; ; �'D � "ก�	�.��
��ก��8��<"1���"1� 3 �"�5�� ��01�
 6ก�+��.�=1./�� 
   .���ก��  ��6��=1 3  '.�����1�  �.
������  �.
I''��=  (D
 ��=1 3) 

�	
��
 

�7��
	กFGก
�5�	���?5   

(กก./K�6) 

;�;�8�FGก
�5 

(กก./K�6) 

;�;�8�FGก
��>� 

(กก./K�6) 

%ก9���9

(%) 



. 100 
�?�N5 

(ก�	?) 

49�

A�4��K�?>

�
�=�����?Q��8 

  TVsu 86 237.7 221.0 70.6 74.2 45.5 2 
  TVsu 89 79.6   71.1   18.7 65.2 28.4 2 
  ��8 �  1 565.9 540.4 174.2 71.0 60.0 2 

F-test   ** ** ** ** ** ** 
LSD .05 144.1 112.2 35.7 4.0 4.9  

 
�����;
�ก��� 5     ; ; �'D � "ก�	�.��
��ก��8��<"1���"1� 3 �"�5�� ��01�
 6ก�+��.�=1./�� 

   .���ก��  ��6��=1 3  '.�����1�  �.
������  �.
I''��=  (D
 ��=1 4) 

�	
��
 

�7��
	กFGก
�5�	���?5   

(กก./K�6) 

;�;�8�FGก
�5 

(กก./K�6) 

;�;�8�FGก
��>� 

(กก./K�6) 

%ก9���9

(%) 



. 100 
�?�N5 

(ก�	?) 

49�

A�4��K�?>

�
�=�����?Q��8 

TVsu 86 256.5 220.6 80.7 72.2 39.4 2 
TVsu 89 216.2 104.4 63.8 66.4 34.2 2 
��8 �  1 669.0 651.2 212.6 71.8 59.7 2 

F-test ** ** ** ** **  
LSD .05 134.6 118.6 47.1 4.0 5.1  

 
 
 


